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ADMISSION CUM SCHOLARSHIP TEST : 2022

FOR 10" APPEARING CANDIDATES
Conducted by : AJMAL FOUNDATION, Hojai INATATYTIONS

INSTRUCTIONS TO CANDIDATE

Candidates are to use the Answer Sheet provided.

Ensure that you fill in your Application No. correctly in the space provided in the OMR sheet.
Candidates are required to mark the correct answer choice by shading the circle completely with
blue or black ball point pen. (Pen of any other colour or pencil is not allowed). For example, if the
correct answer to question no 1. is 'B' then the marking should be:

Wrong method 1. Correct method
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4. Write your details onthe OMR sheet which are asked for.

5. Only one circle, i.e. the correct one should be shaded. Shading more than one circle will
render the answer invalid.

6. Acandidate having completed his/her ANSWER SHEET must hand it over, even if blank, to
the invigilator.

7. An examinee must not bring any loose paper, book, etc. to the Examination Hall. Any examinee
found in possession of even loose papers will be EXPELLED.

8. Anexaminee must not talk to, disturb or seek help from a fellow examinee during the examination.

9. Any mechanical or digital calculating device (Smart Watch, Mobile,calculator etc.) shall not be used
by the examinee during the examination.

10. No candidate will be allowed to leave the Examination Hall before completion of 3 hours.

11. For each correct answer 1 mark will be awarded and for each incorrect answer 0 mark will be
deducted.

12. Duration of the exam is 03 hours from 11:00 AM to 02:00 PM.

Subjects Questions| Marks
Mathematics 40 40
Science 60 60
Reasoning & GK 25 25
English 25 25
Total 150 150

13. Contravention of any of the instruction mentioned above shall render a candidate liable for
disciplinary action as per rule.

Full name of the Student;

Your Application Number Invigilator’s Signature:

Address: Bordoloi Colony, AIMAL Super 40 Campus, Hojai, Assam Pin: 782435  Phone: 03674-254004



ADMISSION CUM SCHOLARSHIP TEST - 2022

Time: 3 hours

For Class - XI

Full Marks: 150

1.

©00000000000000000000000000000000000000000000000000000

MATHEMATICS / f&® (40 Marks)

-1
12" x— =L then— 4"y + ( j _9
4 5"

I 1 yo (1Y
qM 27" x—=—, T, (@ —| (4")2+| — | |=?
2" 4 14( ) 5"

T 27" ><21 —, %, O {(4'")/ (5 j }:?
1
(1)5 (2)2
-1
(3)4 (4)7
Ifx= \/g al \/5 , then find the value of

R0+ 48 45 271
X’ +4x +6x-5

V5443 S
TR0+ A8 A5 2T
X +4x% +6x —5 I3 a4 |

V5443
R0+ 48 45 271

X +4x* +6x—5 a7 5= Fefg 741
(14 (2)6
(3)-5 (4)-2

X =

X = T, Ord

(1)-3 )3
(3)6 (4)2
If ;L:/C —x+y\/§,then(x,y) is
MW ;_r:/g=x+y\/§, 2, (0% (x,y)INATT
w %wwyﬁ, W, O@ (x, ) @@ T

()3, -7) (2)(-13,7)
(3) (-13,-7) 4)(13,7)

If one zero of the polynomial f(x)=x"—(k* —2)x+8is
double of the other zero, then K is equal to

F(x)=x" —(k* —2)x+8 T2 A «Bi *[clj SCH! ¥ela
WO T, (908 K I 2’ —

f(X)=x>=(k* =2)x+8

W AR 36 e ooy e fawd 28, SR K 7

W= Fefa 741

()8 @2
(3)—2 4)—/8

If a, b & c are the roots of the cubic equation
X —7x* +14x—8=0, then find the value ofa”® +b*> +¢
T x’ —7x° +14x -8 =0 faare Afwaca I F26t a, b
I ¢ T, (507 a” +b° + > I 7= Wefw w41
Tt x’ - 7x% +14x -8 =0 farare 7Tt I a, b
GRCTN,O@ a” +b +c° =2

(7 2) 14

(3) 18 4 21
When the polynomial x° +3x” —6ax —5 is divided by
(x—1), the remainder is p, and when the polynomial

X +ax’ —15x+20is divided by (x+2), the remainder is
q. Find the value of ‘@’ if 2p+q=10

x* +3x% — 6ax -5 oW ARF (x—1) @ [Ferey Ffawa
SN p I x° +ax’ —15x + 20 I RS (x+2)
@ feeten wfaa st g 231 3% 2p + q = 0 27, (or"
@ I Fefg w4
T 1’ +3x% —6ax —5 I2oW ARCH(x—1) Tacw =tet T2,
AT p @32 1+ ax’ —15x + 20 I2 ARCF (x+2)
TTa SloFaTe ST ¢ 2, @3 2p + q =0T, ‘@’
a7 W fefa weat |

(s (2)-5

11
G (4)4

2

If ab=q & a + b = p, then what are the factors of the
algebric expression X+ px+q
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M ab=q@®a+b=pad, (T X +px+q
famre aifia Teotve g & 2'a?
T ab=q@aRa+b=pTA, @ X +px+q 3
Terivs TR & 2

(1) (x+a) (b-x)

(3) (x-a)(x-b)
(4) None of these / B8 27 / @ b8 T4 |

(2) (x+a)(x+b)

af #1499 =191 5 mﬁas%cvnmsmzr@mm%

e 299 2@ 3 [{eael Ff1 ool st W %
T, (or® SalteiTst Aol wat |
A AR 5 (A9 FACH T BRI TR %«ﬂaamﬂﬁ‘@
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9.  The sum of the digits of a two digit number is 6. Also, 3 Tl Fata Tg SAikEa TIF{%??I?’L S 2
twice of this number is 6 more than the number obtained 3
by reversing the order of the digits. Find the number. (1) 3 (2)2 (3)2 4) 4
%51 e [ Ty @B WIeF YBIE (AT 6 AT WF 9 18 18 9
@mm TS SR oA AT TS TR T@W The first te'rm of an A.P is9 times.ofits 9" term. If the
% A common dlfferencehls —2, then which of the following
6 T, (90T ARG F1eR will represent the 6 term
TR o e @@ e v qba catoree 6 ok qioa @5t aiiffo® etoifeq a1 2[MTh! Zare 79 23 9 &= | T
I AR T 2l A T A Fawrer (4w 6 T AL TG 2 T, (ST T (FIALHICA T T A
@M 27, O TE TR Fo 2 e
(1) 21 (2)23
(3) 24 (4) 25 G ANGA 2SN 2% T #Itwd 9 & | 7 AL
10.  Find the value of k & m for which the given lines oA 2 T, O T A e 74
represent the pair of equations which are coincident (H4 2)6
9x+ky+12=0;12x+8y+m=0 (3)8 (4) 18
weTe frmt Afiwae @Ita I Gra T AeE IE (Org Rohit Sharma scored three consecutive two digits runs
K p o | which forms an A.P in T-20 series between India vs NZ.
o m Sn?iﬁ * s - The sum of three numbers is 81 & their product is 19,440.
9 tky +12=0; 12x + 8y +m =0 €1 5! Bl Find out Rohits’s scores
TR A 20, k @3 m 7 T el ifEe =R vive w feferaie wiem fefiem o= @
83 2’ }g % ?’21%6 W2 O 19 73 T qe (FT5! B A 2o AT |
11.  How many solutions do the following linear equations i fofemn mam/q ar 81 BT BIF ¢eF= 19,440 28,
have 7x -8y +6=0;9x+9y-9=0 (ST (AATZS > e Ay 29—
were frat FRAEad (@2 fFwin! Ay @it | e ¢ Feferemites wty swive T-20 Fiffes @ifze
7x-8y+6=0;9x+9y-9=0 31 TR 27 Foa WITea w2 T CHIF e
7x -8y +6=0;9x + 9y —9 = 0 FeFael 7ioq T4 aifers 2ts, foafs sy fifera sfa ot wie2re == 81
TR T 2 a3 Toafb it (Fita evwa 19,440 T, (@1 =9
(1) A unique solution / &FF AT ARG el Fe 2
(2) No solution / (T ML TR/ (A TNL 72 (1) 24, 28, 30 (2) 24,27, 30
(3) Infinitely many solutions / SR AL (3) 30, 27,22 (4) None / <58 727 / @b 71|
(4) May or may not have a solution The ratio of sum of n terms of two A.Ps is (2n+3): (4n+5).
TYE AifFT ot weql TedfFae e Find out the ratio of their 10™ term
AAYE AFre 2Ard 4 e diFre 2Aitd | @TWWH?QWWNWWW(2H+3)
12.  After adding 5 to the numerator, a new fraction is formed (4n+5) TTE TXST WRSH 2T SATS Tfered |
: qn 7R g : 2n+3):
which is equal to 3 , & if 3 is substracted from the ‘Iﬁ"ﬁﬂ'@? 2o n FG AR T SIS (2n+3)
6 (4n+5) T, SR W FTAF TRAE T AC F6 ?
denominator, a new fraction is formed, which is equal to 31 41
2 , H— 2)—
3 find the fraction 61 81
31 41
3)— 4)—
3) 1 4) 1
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16. Find the sum of the given series 101+99+97+...+47 20. Lovlina Borgohain & Neeraj Chopra, the two medalists
101+99+97+. . +47 (ANTBE caiarwe e o4 | attended a prize distribution ceremony. They are both at
101499497+ .. +47 caABa carerme fdfa 591 origin facing in the +ve y direction. If Neeraj Chopra

(1) 1072 (2) 1642 moves 3 units to the right and two units upward, then
(3) 1962 (4) 2072 what will be the distance between Lovlina & Neeraj ?

17.  The interior angles of a polygon are in A.P. If the least Lovlina Borgohain ®l% Neeraj Chopra fﬁ@ e A
angle is 42° & common difference is 33° the number of B! THA [ TS (oM A | (VST T T
sides is- e «w g y - e fom ¢z =itw | 7@ Neeraj Chopra 3
5! ITTTE ST (Fie 2 TAEA 2loifes s | 7 GFF I A 2 9FF €20 9ifS F14, (ST Lovlina
2 fTew (@ 420 O AYiEe Owd 33°7F, (ST W% Neeraj 9 &4 449 29—

T R AR I— Y2 W& 2@ (ATEES Lovlina Borgohain @3k Neeraj
GFH ITYITA WSl (FI FZ INGA 2oifSrs wirg | 7w Chopra G5 775 Roa SBItT Selarze Facem, ofal
Fow @W 420 @z FYEE Sw 33° 29, 09 I29EE AR ToT TERYCS GRS Y - SCFA WS FCE wiern e, 7
TR TS 2 Neeraj Chopra 3 €% TRWIF AR 2 GFF CeTHSI(A

8; ;1 Eii 10 TR TSP 2, O7F IO Lovlina @3z Neeraj

18.  Find the value of ‘p’, if (4,-p) is a solution of the equation RIS mﬁs?
2x+3y—17=0 ()15 units / @& (2) V13 units / G5
i 2"{; cély‘ 17 = 0 613 @Bl 7 (4,-p) T, (ST 'p 3)NT units/ @@ (4)~/5 units / @7
ARIAASRERSI 21. The centre of a circle passing through the points (7,-5),
T 2x + 3y — 17 = 0 AMFACER TN (4,-p) T, O “p’ (3,-7) & (3,3) is
a3 T+ e F9) (7,-5), (3,-7) == (3,3) T4 (@2hia wirewa #ie 2 @&t

(13 (2)4 JEBE (FH TI—
(3)-3 ‘ 4)-4 (7,-5), (3,-7) & (3,3) vz furn wfew™ =4t 3rea

19. Messi moves 3 units to the east from the centre & passes St
the ball to Neymar. Now, Neymar moves 5 units to the SRR LLNIE
south, then 10 units to the west & finally he passes the ball (1) (5, -6) 2) G, -1)
to Messi & Messi moves 15 units to the north & scored a () 3,2 o (4) (3,2
goal How many positive integers will ‘k’ take, such that the
If we consider the whole system as co-ordinate geometry. roots of the quadratic equation 2x” —13x + k = O are real
Then in which quadrant Messi will lie when he scored a k> TSB! 4eirere 94 Aitd 2x° — 13x + k =0 Tesre
goal AR T (@251 ATALA?

' fete e =13t - 3 ‘k’«ﬂaa;g%aﬂmmmw 2x —13x+k=0
O GG T ot | AfSH (FRATA WEHSFITE 5 @7 F ot m% 274 '
T 2AT5% FICA 10 GFF (9 ST (e I00! ce ' ) 13 ' )21
e G 15 9FF TEIFICe (3 Bt 9a F¢4 | (7 =t (3) 22 (4) 28
(ANTHR LA ZeE Sifie 3@ ©ifd w1, corg oo 23.  Ifthe roots of the quadratic equation ax” +bx+c =0are
FATS (IR F6! FF0 AifFa ? negative to each other, then
(T (FTHA (AT 3 9FF 2 AW PR T FEAF 39 % ax’ +bx +c =0 T&are A 7 45! Bl SR
2 FCAY | QAT (2D (AF 5 GFF WiArea 10 G55 250 A 2, (ST —
wmmmmﬁwaammqmimﬁlsm M2+bx+c=0mmﬂﬁﬂﬁmw
TGA T T GFT FToawe (aliE TR (7 | 7)ol 7gfS o, SE—
fors afv @l g Tifsfs el w5t F41 239, ©6a (1)c=0 (2)b=c=0
(olf1 TR T R SR (R I AR 2 (3) b=0,c+0 @b=0
st nd 24. In an IPL match between KKR vs RCB, Virat Kohli
(M1 (2)2 : )
(3) 3¢ (4) 4" scored some runs. If we increase his runs by 16 & then
squared, the resulting number is 368 more than twice the
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square of Kohli’s actual runs which among the following
is possibly Virat’s original runs

KKR ®I% RCB 3 W& IPL (2ers @ @i Fg e
T4 | T of Tiel AR 16 I w1 3of wfacer oiw wtet At
T ol AT 51 RS (F 368 @RI TER (FICH!
gTe fFaiba et qAe 7' Aa—

KKR @32 RCB 3 Ty W @& [PL Ties @@
(Fie g 9 FCa9, ©fF @ite Femrt 16 3 3 39
FACE ga TN OIF 2l Fiet ARG F0ofA fawrem (4w
368 @M 27| (FIR 2 AL FS 2

30.

7fw Cot’0 - Cos’0 - g=(tan0— C0t9)2 —(SecH - COSG)2
T, (o0 ‘g’ I W fAefm w4
7fw Cot’0 - Cos’0 - g=(tan0— C0t9)2 —(SecH - COSG)2
T, 903 ‘g’ @3 W o F4)

(Ho 21

(3)-1 “4)
Sahil draws a card at random from a pack of well-shuffled
cards. Find the probability that it is neither a king nor a red
card

siewa iz w7 (Aa o #ite 2141 bifres e o

(1) 4 (2) 6 1S TleTaITa, OiR 21T 4 I Tl 6! TRle @iz
3)8 (4) 10 EEIRICEORER O
25. Eor vx{hat V'alues of ¢ does the equation 2x”* +3x+c=0 SIETSIE G SI9E a3t A9 (AT Afzs aFh F1%
ave imaginary roots FRER FACES | QU FIEOLS AT 3R IS FTS 1 294
2 _
c A W AR 2x +?;x+c-03ﬁlﬁ‘ﬁﬂffﬁ%’iﬁ$i’a? SR
cE¥d (FEATE T 2x” +3x+¢c=0 ﬂﬁlﬂi:‘i’sf 6 7 12 1
e 2 MY, @, %, @Y
; 9 31.  Evaluate: (a*)"7(a’7)"*(a" )"
(e>= @e>3 () (@) (@) 2 e
xX+y\x—y y—z\y+z Z—X\Z+X ‘*ﬂa mﬁ‘fﬂﬁl
3)c >% (4) None of these / abie 727 / «Ffbe 70 (@ (1)) 1 (@) @) 0) 4
a
26.  If the shadow of a 5ft tall man is 53 ft long, then the 3)0 4) a—
angle of elevation of the sun is? 32. Inabox, there are 5 Nestle & 18 Dairy Milk Chocolates.
3 - You picked up a chocolate without looking at it. What is
ﬂﬁj 530 TG A B 07 5\/5 A, (5% the probability that it will be a Nestle chocolate
THITA @FAZT— B! IFBE 5 BI (TR T 18 Bt (T2 o 5CEs W
i 5 5 TovOI T ST QR 0 V3 TP 7, O O A4 (AITHIANS <51 5D I ST (B (oTet
AR TAS (& TS ? SRHCED (R AGEES] @i 2
(1) 30° (2)60° @5 T 5 T Nestle 818 B Dairy Milk =itz | a7 ofst
(3)45° (4)90° AR e N S 9= SrFITes GeTre, BrFITen o
27.  What is the value of
Nestl q AT F© ?
cos0°. sin25°. sec85°. tan45°. cosec5°. cos65°. sin90° © e?a‘;_em ?115_\;' g 5
cos0°. sin25°. sec85°. tan45°. cosec5°. cos65°. sin90° (1 43 2) A3 3) 43 ) % 8
AR — 33. pr:1+2xandQ=1_2x,thenP+Qequals
cos0°. sin25°. sec85°. tan45°. cosec5°. cos65°. sin90° 1-2x 1+2x P-0
a9 qF— tjﬁP:1+2xWQ=l_2x = P+Q
(1)0 (2) sin?25°. sec?85° 1-2x 1+2x° P-Q
3) 1 (4) sin>25°. cos*85° 33 fefa =y
28. If sin® — cotd = 1 & cosec’® = 1, then cosd = ? v P = 1+2x 8 Q= 1-2x , T4, o9 w
MW sind — cotd = 1 = cosec’d = 1 T, (STF cosd =? Iijx I+2x P-0
MW sin® — cotd = 1 @ cosec’d =1 T, T cosh = ? < fef =) Lt dg?
4x +ax
1
()1 20 G- @ O e ®
29. What is the value of ‘g’ in 3) 1-4x° (4) 4x
2
Cot®0 - Cos’0 - g = ( tanf —CotB)’ — (SecO — Cosh)’ 4x 1-4x
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34.  An oil tanker is in the form of a right circular cylinder of (1) 50 cm (2)30 cm
radius 10 cm & height 25 cm. The thickness of the tankers (3) 60 cm (4)35cm
outer layer is 2 cm. Find the cost of the oil filling in the 38. In AABC, DE||BC, find the value of x
tanker it costs 5 paisa per cubic cm If% AABC, DE||BCE, (TS x 1 i+ foefq & |
4R (ST (ORI TS (0T TSP PUIF(e w1 7% AABC . DEI|BCZ. 974 x & 3 fiefe %1
e 10 czefie o Tt 25 (e | (Bepia 4w AifZaq
g 4 2 (e T | 1w af® ' (wfi (o waata A
4G 5 #1251 27, (STF (5FF (5 (SR =jef Ffaea T X x+3
Y/ ' ? . .
AW ST (GIeIF @6 (ot Hrieaa ey 10 e
€ 25 (Ao Tobel | BIITEd ASAE A (34 2 (e aw X+1 x+5
& sm e core o1 FATe 47 5 1w 28, oF el . .
BiE cotet o) Fare Fe 4w A ?
(1) 2 230.90 (2) 251.20 (1) 2 cm (2)4 cm
(3) 279.50 (4) 2392.85 (3) 5 cm (@) 3em o
35. Inthe given figure, PA & PB are tangents to the circle 39.  In the given figure, ABCD is a parallelogram in which
with centre O. If ZAPB =60°, then find ZOAB ZDAB=70° & ZDBC = 65°, then find the measure of
were firt fome PA Wi PB 272 O (3818 3G 751 03 | <CDB @ AR
I LAPB =60° 2, (ST8 LOAB 334 fefa 1| foae ABCD <ot A< e —/0 A
firs orewt fora@ PA @3z PB 291 O (Fem 30 qib ~of | #DBC=65° 23, (518 £CDB 331 fefa =411
MW /APB =60° 23, @ LOAB @ S sk 4| f5t@ ABCD swigfataa LDAB=70° ¢ /DBC =65
A 23,973 ZCDB @3 3= fdfa )
D C
B 70°
A B
(1)45° (2)60°
(3)30° (4)15° (1) 45° (2)60°
36. A chord of a circle of radius 10 cm subtends a right angle (3)30° (4)25°
at its centre. Calculate the length of the chord 40. Two consecutive angles of a parallelogram are
TW 10cRsTe e Il GEITE (FHS Bt ACHI (x+60)°& (2x +30)° .What special name can you given
EEl
T2 F(E, (ST T TIETE (v [wofm F4 | to this parallelogram
M 10w e RS 9t Jrea w1 @ Twe B! AT GBI T (T (x+60)° W (2x+30)°
T FTCH, O T @7 N T ? T, (ST (2 ATGRFCHA [+ AW 23—
(1) 10 cm 21043 em G AE AT 5o T @ (x+60)° @32 (2x +30)
20, O3 AR HEDA [rea 7 27—
(3) 102 cm (4) 11 ecm
37.  AABC~ ADEF, If AB =4 cm, BC =3.5 cm, CA=2.5 cm (1) Square /3 ¢
& DF = 7.5 cm, find the perimeter of ADEF (2) Rhombus / ¥91% / 797
AABC ~ ADEF aft AB =4 (=efits, BC = 3.5 (=sfie, (3) Rectangle / SIT® %
CA =2.5 (zzf¥iz =i/ DF = 7.5 (%gfiie 29, ($t% ADEF (4) None / €518 727 / & (6'S T
7 S Tfereat
AABC ~ ADEF 3% AB =4 @sfie, BC = 3.5 @sfate,
CA =2.5 (1efiiz @3z DF = 7.5 (¢fiis 23, $@ ADEF
@7 AT T ?
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: SCIENCE / f&@sts (60 Marks)

®eecccseccseccsccssccssrcssccssccscccscccssccscccscccoee®

LX)

41. Two resistances 3R & 6R are first connected in series 45 You have a coil & a bar maenet. You can produce an
then in parallel. If same potential is applied in both the ' electric current by moving ghet. p
cases, then the ratio of current in previous to that in I R
later case is — IS <! FERT I <5l FeA AR g
3R W% 6R TGB! (A1Y 2273 (X8 SR W O #lize AR T A FEA A
TG SIa A T4 C2rR| T TO (RIS TF Red COTIR FITE (b Topas Gk <& Foa wive | g
(OF 2RI T T, (90T 778! A (<1 e (= (A feTerz Teom TS bR
24IR TS T — (1) the magnet, but not the coil
7 (1% 3R @3k 6R 2t e #ta Teaite 3@ | W RFRC ﬁ” “szn 'ﬁmwﬁﬁ%ﬁ'” bR
T (@ G2 [T elrHiol T T, 901 SEqS @R (<ITT PP O A oA
(2) the coil, but not the magnet
TR 26 S T F o o firg s fira e o
(1) 1:2 (2)2:9 -
3) 2:1 (4) None / &ibte 7zq / «@fbe 7 FEACE ST FACS T AT
. (3) either the magnet or the coil
42. If the kinetic energy gained by a proton is 4.8x107 " joule, T SRR FEAF Aol Fea Ffoa
then it is accelerated through a potential difference of - - St aifeR) |
T @bt 25 wizas T4t afexife 4.8x107"7 ez, | R TS
(4) neither the magnet nor the coil/
corgz_ frea com e wiRe 29 THEE A9 FeAS afee FRE i
e, o faed coum W ofee 2E— 46. A mirror forms a virtual image of a real object
(H3ov (2) 3000 V QU VITAIT <51 AITD 78 ok alfely 3% Fea ) wiretw
(3)300V (4)3x107V <fe—
43. A bulb draws 50 W when connected to a 10 V supply. G5 wolte @B qrwe 9w TEe ﬁﬁﬂﬁ?ﬁm | wofelfS—
Find the power if it is connected to a 8 V supply? (1) It must be a convex mirror
10 ©+54 bi2ifE #Tiena w19/ i @bt Aeeaiel Ffaea & 50 916
A Foreva Tae 2°7 / iR Tae wold 2ta
17 | 7w § T BRI F191S AT T 7, (90T LA (2) It must be a concave mirror
el fFwm a2 Freva wree 2 / TR wIawe wofd 27a
10 @55 A2 G AT GF 6 I AL FACE 50 ST (3) It must be a plane mirror
129 FF | A 8 T AT2RCTA AT AT FA 27, $F @7 Foreva Aree 2 / TR ATeE wefdl 2@
Fol T T ? (4) It may be any of the above mirrors
()30 W (2)32 W TR TFC @3 WA 279 2t
3)28W 4)36 W . AT (F-FI GF B wofet TS it
44. A proton is moving in south direction, it experiences a 47.  An object is placed 20cm from a convex mirror. Its image
force in the vertically upward direction. The magnetic is formed 12 cm from the mirror. Find the focal length of
field at the region is acting towards the mirror.
Wl olf S AT (AT TeTqeICa SHIAA 721 e FAC O T, (ST WAL F15 Oref (ool 3 |
% (A (8 IR A4S (51 CFaA WS it 203 % g wolel (ATF 20 sz ATy 9% (B TR A
(1) East/ 713/ @ TR | T21A eifefag af wofd (2t 12 (iefHie 7y Teom
(2) West / #f¥om T3, O woAoR (@@ e e w4 2
(3) Vertically downward / Tergeita frmansh (1) 20 e/ ceefie (2) 10 e/ cwgfite
(4) Vertically upward / TeTqeita Bl (3) 30 cm/ el (4) 60 cm/ (e
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48.

49.

50.

51.

The refractive index of water & glass areg &%

respectively. Find the ratio of speed of light in water to
glass.

wﬁwwaﬁswnwméwgamﬁaw
FIBCe (12T (F9T TGS Tferedt |
Wﬁzwaﬁsﬂamwmg«m%mwcw
FITHA AR ASATH TGS F 2
9 8
n= P
()8 ()9
12 8
(3)? (4)3x10°m/s

If thin lens & a spherical mirror both have a focal length
of +15 cm each then

AW U 2TTE (TG S (AETFIE WA ToFd TR (7 53.

+15 (e 2, (o1
o AT (17 IR (TR woleR (@FeHm g +15
el 2, o
(1) both are convex / Toq T 29 / Tz ©Ea (A
(2) both are concave / &&q SIqGE 27 /
ToHE wEe TA
(3) The lens is concave & mirror is convex /
(@5 < SIAGE W LA 4 e 2]
T SRee AR wAI Tee 23
(4)The lens is convex & mirror is concave /
(D 41 T@el SIS WA 4 S[Fee 29
@ Tee qar wofelfd sawe 2ta

A light body & a heavy body have equal momentum
which one has more kinetic energy?

€51 ATTE IF SAFE B! YT IFS SACA% A T A (FACHE
sife = @feza?
GF 2IH TY 93 GFH ST SACIA AN ZCEA, (FIA04
sifexife @M 2@—
(1) The light body / 2FeeT(s1a / 2w @A
(2) The heavy body / %4at5ia / St qE(BA
(3) Both have equal Kinetic Energy
ToT ifeiE T 23 / TeraR sifexifE wwm 23
(4) Data not sufficient
ToITE A TOH / $ATS SIUE Teld
A boy lifts a 6 kg mass from the ground to a height of 3 m.
How much work is done by gravitational force of earth?

a7 6 e eea @bt 3% M9 ot 3 fbE
TICe BotE ST N qCe e P e 2

52.

54.

GFe qeT 6 eelis eTrT 9 7€ W (2eF 3 FoE
ToooT TIITA 2JfAT NG AT A T FI A 2

(1) 180 J/ &=t (2) 18 )/ &=

(3) 180 J/ g& (4)-18J)/ &=
A train 50 m long passes over a bridge at a speed of 5 m/s.
If it takes 30 sec to cross the bridge, then find length of the
bridge.
50 faioHa wet (@St QATe 9B! wered Tolrara 5 /e
AITA 9IS T2 | Tk AT wereem S FTATS 30
CBTFE T A3 (ST Wk 4ad oy el & |
50 faBte 7 @ @aaNet «a i rga Toiw fue 5 /e
ST BT | T (@B OTg Tfeers F40e 30 CFe

T A, O YA ovy ol Fea |
(1) 150 m/ T (2) 250 m/ T
(3) 100 m/ & (4) 200 m/ &

A car is moving with 30 km/hr without changing direction.
The mass of the car is 2000 kg. Find the net force acting
on it in the first hour.

G AT Tt FeTfel w2t 30 fFefiie/ st @rae oife
+f4 =TR AT B9 2000 {Faalis 2 21947 TH1e T/
goige o Fat #iig 9= fadfm = at |

o aNfe o re wfqasa 7 v 30 FFefe/=o sferara
oea | Sifeioa ©a 2000 fFaas zra eiew woia Tom fmm w4t
2[fe a1 foefa weat |

(1) 6000 N (2)6x10°N
(3) 2000 N
(4) None / @518 727 / @& Be T3

The velocity — time graph of a certain body is
shown in the following graph. The part of the graph that
shows deceleration of the body is —

were fral fode 3w WBie oiomme (@Y (wYed! tarR | @R
(T4 (FITCo! DR TGO ML (TR ?

e orem wrefore @a @ ow AT 2R @2
eTifod ST (FIH I TZae (T 200" ?

Cc

<
o

o t—
(1) OA (2) AB
(3) BC (4) CD
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55. A person starts from a point P and travels along a path 60. Oils on treating with hydrogen in the presence of
PQRP as shown in the figures. Then the speed of the palladium or nickel catalyst form fats. This is an example
person is ms'. of
T R weTe frE ¥@re P e o 1 wies #ie o st e syt eeoifEfoe (o TRgraTe
PQRP 973 Tl F0a T2 T4 (@91 27 /| e e <9 odil Teom A G2 (e @6
TC5a AR (R TR, oo it P g (e R
O A S FCF G PQRP A9l 473 Tl e, @ oA el fves eres Sefgfers cor
e @ =@ @ TRrgIET A fafew wa 59 Te wm wea | ffeivt 2=
- (1) Addition reaction / catairgr fafemat
R (2) Substitution reaction / 2if&giom Rfera
(10 seconds) (30 seconds) (3) Displacement reaction / fagioi fafema
3m (4) Oxidation reaction / e faferat / eraw f&femmt
61. Which among the following alloys contain mercury as
Q am P one of its constituents?
(20 seconds) TR (FICH!] A 419 B! TAWE (207 Al ?
(1)0.2 (2) 20 Fva @ ATa dioq 9T B TAWE 206z 2w ?
s Th (3) 12 der for i .(4) 0.4 o y (1) Stainless steel / feeisE Stat / @wiel T=ire
. e correct order for the activity series of metal 1s- .
s faeeroTa (e &% ZW:BT%ECQ— (2) Alnico / ST
: Cree (3) Solder / 5=8Iq / ©@leT
red 79! A S o o= (4) Zinc amalgam / f&<& @it / form wysiests
(1) Na>Fe>Pb>Sn (2)Na>Sn>Fe>Pb . .
(3) Na>Fe>Sn>Pb (4)Na>Pb> Fe>Sn 62. The electronic configuration of three e!ements X, Y anq Z
57. An example of hypovalent molecule is ?srecé(r;i,ct%; Y-2,8,7 and Z-2, 8, 2. Which of the following
1 RO TS |Ew:%mﬁ°ftﬁr§7 S5l M1 X, Y &I Z 4 3eag e e X-2, 8; Y-2, 8, 7
TR AR 0 AT ___ W Z-2, 8, 2 T O (FI0] WF A2
(1) BE, (2)NF, foaBt Gt X, Y @R Z @3 e e o X-2, 8; Y-2, 8,
(3)})(_:15 ()1, . 7 €A% Z-2, 8, 2 @ fNpa (Fiet wm zd 2
58.  The atomic symbol of Hif;lrargyrum is (1) X is a metal / X @Bt 41g / X @%f5 4re
T ﬂ?ﬂmﬁﬁ\gﬁﬁ— (2) Yisametal /Y @Bl 419/ Y &5 419
() H (2) He (3) Z is a non- metal / Z @6 94ig / Z 9F % @4
(3) Hf (4) He (4) Y is a non-metal and Z is a metal /
59. The elements A, B, C, D and E have atomic number Y 5! WYY W Z <1 419 /
9,11,17,12 and 13 respectively. Which pair of elements Y @%6 SI4g @3k Z ¢F 0 419
belong to the same group? 63. Malachite is an ore of
A, B, C, D E (e (F2519 2991 ST &0 9, 11, (TETIED (202 I O |
17, 12 9% 13 2031 [ (FIF0AER Gl G 399 S0y @ ? TeTTED 2 7 T |
A, B, C, D @3 E (Te1atsia siawid@s awap 9@ 9, 11, (1)Iron/ @&t/ @@ (2) Copper / &I / Sisit
17, 12 @32 13 27 fomfefete @ (ool (aete @ (3)Mercury / %@t / i@ (4) Zinc / o=
sfa wr@efe ¢ 64. Butanone is a four-carbon compound with the functional
()AandB/A=i<= B/ A @3t B group ) /
(2)Band D/B&% D/ B @32 D b terg_ R e o bifE w1 e
(3)Aand C/ASI®C/ A @& C fErmze SRR o R bR |
(4)Dand E/ D= E / D @48 E (1) carboxylic acid / FEEife @foe
| TR St
(2) aldehyde / @FfezTS / SHiEeRRe
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(3) ketone / 6% / Fo=

(4) alcohol / G=TFZE / SRETLFI2ET
65. Which of the following non-metal is a good conductor of 69,
electricity?

TR (FCo T fawyed 3 2if<@ig ?
Fva @ @ fyres oS 2
(1) Aluminium / @@jfifeats / ettt
(2) Silicon / oo / Fiferw
(3) Graphite / (S5 / SIfF20
(4) Gold / et/ ¢ttt

66.  Which of the following is an incorrect statement in 70.

reference with observation in Rutherford’s a-particle
scattering experiment?

ATTFCS 00— F9 [AFFR A1 2/Two1 (Fae oo
(FH! TG o ?

A ACFTSA 0 FoIF [vgaet 2 dwa @ fiss e 71

e orem 2
(1) Maximum of the a-particles rebound after
hitting the gold foil
NG TLeTS WIS F4 (@Aelat 0 Foll gfa =z

G (I S9re S0 @RSt o i arg
(2) Some of the particles deflected from their
Path
gt el 2= aifSeiea ot fapre =31
SItra siferie (e oy fapre =@
(3) A very few particles are not pass through the
gold foil
Torgaie et oS F2eT A #11F €2 AR (A
g #it G FitaTea sty wea o= Fare

A=l
(4) Most of the particles pass straight through
the gold foil
CafRtal Tt 278 T2 TSR CAT AT =417
[euiel
@Rl Foll TR (FICTeTs ey ea oA
o F7 72.
67. Which is tri-basic acid ?
@Fmeo! [@- FEe afoe ?
@ fa-waer wnifre?
(1)H,PO, (2)H,PO,
(3)H,P,0, (4)H,PO,
68. The number of moles of nitrogen atom in 56 g nitrogen
is
56 SIS TRGLETS ARGET< 7 o714 AL (27 —

56 &I ARGITE 2=MH TR AT T —

(1)2mol / &1/ & (2) 4 mol / &1 / e
(3) 8 mol / W&/ (& (4) 10 mol / =/ (=
aMnO,” +C,0,” + H" - Mn" +bCO, + H,0
coefficient a and b are-
aMnO,” +C,0,” + H" - Mn"? +bCO, + H,0
© R aW® b (207 —
aMnO,” +C,0,” +H" - Mn"? +bCO, + H,0
@g R a @d b TW —

(1)2,10 (2) 10,2
(3)2,5 (4) 10, 10
The oxidation number of oxygen in H,0, is
H,0, ® SIf3reea Tae 7 (20e—
H,0, (¢ SfHTeca TiFe 74y 2 —
(H-1 (2)-2
3)+1 4)+2

Which is the correct sequence of parts in human digestive
tract

TZI AT A1 5T T8 TR &% T (202
TR AfRoiTeras welEm @b Afoe g

Al
(1) Mouth— stomach— small intestine—
oesophagus— large intestine
AT —TFEE— TR (F R — I
YT — AT > TR SN —FINE
(2) Mouth— oesophagus— stomach— small
intestine— large intestine

P T (F MR AT TG I

YT ST AT > FAE IR
(3) Mouth— small intestine— stomach—

large intestine— oesophagus

TG AFLN—FHE— TR F o7

PREET R ol B G R FUR B R I
(4) Large intestine— mouth— small

intestine— oesophagus— stomach

TG — I — FUE TR (F R —AFZA
JINE — YN — FUG — SN oAl
Which of the following is a correct statement?

©oTE (FI001 Ofe w5 ? / [eva (@l Aoe ae @

(1) Carbon dioxide combines with haemoglobin to
form carboxy haemoglobin

FETCR TERe B e were fifere (2 FidaH
R aifae Tesm 3|
FiTCR TERE e At 7E 2w S
Rreaifan tofd #ea

(2) Contraction of diaphragm muscles and
relaxation of rib muscles help in inhalation
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NI M (2T AL S FIAZICA (2T T G G0 ST T ST T (o FAre

it T iz coTiare wiew S| AR FCA |
T (2R ALFID 3R 2ATeaa (e et (1) Acrosome / GFGN / SHTFCAN
- AR FCA (2) Zona pellucid / (&=t (#EfoE / (=l Coefore
(3) Glycolysis occurs in cytoplasm of cell while as (3) Tail fibre of the sperm / &< (& /
Krebs cycle takes place in mitochondrial matrix TR (TG
% AR AT (T 2 '2lrere 27 e (4) Zona glomerulosa / (Tl CATIISTH! /
(4 QIR RS FGA (TG 2|
CETIel Caltsr=RteTl
AL (FITIR AT TG T4 76.  After ovulation Graafian follicle regresses into
(7 bF TG IGTE MG Awifers 23| Torwae7 oige AecaEwn! [GRLicEE]
(4) Both (1) and (2) are correct Toaribem o Wy s wlema e 3|
(1)W1 (2) Ten && / (1) R (2) ToR &7 (1) corpus atresia / FA25 GG / (FRAA GG O
73. If Lungs: Pleural membrane, then Heart: (2) corpus callosum /3371 (FE'E
T Zlewwle : 2@ TN =W, (STT TG - /;ﬁm
A% G : ZAE 21, TR TS ‘ e
(3) corpus luteum / F2ii5 fere b /

(1) Pulmonary membrane

olfeTI GRS /TR faifE o /R Ffoa

(2) Pericardial membrane (4) corpus albicans /FI15 =TI
(oifeaITSTae el / zvaal faife at ot / @RAR
(3) Cardiac membrane 77. Auxins do not increase
Fifrre oz / @ fafg a o wfeee__ @ /w3
(4) Thoracic membrane (1) the elasticity of cell walls
s Sgae / T e At ot @A FEfogemet / @mabiar Efegomet
74.  Write the correct sequence of air passage involved in (2) the rate of photosynthesis
inhalation? ATAF AT 2/ ATAFACHAR T
71 21T ARG (4! A oI5 FICo! W% SIS o7l 2 (3) the uptake of water by cells /
WA AT AGE A A A (A 2 (@IS S afzel T4 TS
(1) larynx— Nostrils — Pharynx — lungs / (FITEE Te 28 F9] TS!
AR — A — (Fag — Zewle (4) rate of respiration / ¥F«< T[F / WA T
TG — TG — A — TR 78. If around, green seeded pea plant (RR yy) is crossed with
(2) nostrils— Pharynx— larynx— Trachea — wrinkled, yellow seeded pea plant (rr YY), the seeds
Alveoli produced in F1 generation are
TAAE— (FARAFIEI— WA T B! AT ERET W6 W2 (RR yy) 1 Tew &= GCer,
TG — A — TG — WA — QAT (rr YY) T64 N2 Aerq #191S Ao FE0a, 22w
TOREAT AT woie) & F1 o Seo 2ia Aot =4l
(3)11311211831 passa/gsxe1 — 11ng — Trachea — s ‘ﬂﬁw’ G Frerge 54 ¢fbE (RR yy) @3
arynx— Alveoli . Soe e
AT — AP TR HETA — (AR T FoeL < oA offa L el 7 <
= (rr YY), ©izt# Fl oot @ Serafs Teom 279, oieE
AT T — — o — S (1) round and yellow
e TR O QEE / JEIFR G, TR
(4) None / @Bl 7127 / @& b8 71 (2) round and green
75. — is an organelle that helps the sperm to penetrate the (3),133?1?1:1@:? T\ﬁm / TSR AR T
wrinkled and green
Wﬁ:@aﬁcmmﬁm@m%mwww TSI W% CIEETa /| FoIT G2 &
) (4) wrinkled and yellow

TSIl O AR/ FOFIC R TR
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If father has blood group AB and mother has blood group
AO. Which one of the following cannot be their child?

% forga coTra (aiiet AB =< Tiea (oo (ot AO 2,
(ST TETq (FILH! (SETHFT AV (OT (N2 2T
(e ?
o foreta at@ g7t AB 20 @k Weia 0e4 g2t AO Z3,
73 T5a (b SITva TR q0&d 9 TS 2ATal 2

(1) AB 2)B

3)0 (4) BO
The carbohydrates which are not used by the plants body
immediately are stored in the form of

TEn (T2 SICHFAF ©IT3 A2 FAA ((RE FRIILGS
R fEoreem 2 A
*Fq1 A FALICGS BEw (TZAF! IIZS TF 11, TeLahe
_ Siica A Al 2

(1) Starch / c4==a / BiE

(2) Glycogen / 2z teW / AlFite

(3) Maltose / (@GS / STFOIE

(4) Glucose / #'9@ / gte

The protein digesting enzyme in the stomach is
known as the

g AF 26T 215 T4 TLFAGHCHE I (207 86.

AFgera (2 wfaois Terwes Fi A sifafvs
(1) Hydrochloric acid
2REF= afbe / FRrgEis wife
(2) Pepsin / o195t / ¢2toifFm
(3) Mucus / cs=i
(4) Amylase / awZreTe / SHifsTe™
Which is the main thinking part of the brain?
Torgra fowt S 7t e SiTht (2re—
e ey oum st @@
(1) Cerebrum / (2f@i% / SFAETF
(2) Cerebellum / (=farets / AAEH
(3) Medulla / GTgal / (IEwTS4 STeg
(4) Pon/ =</ (oAl
The gap between two neurons is calleda
75! fiGaca e@ wiFoF @il
it fReratT ngaE Rues _ F@ =)
(1) Axon/ @3« / S
(2) Synapse / Tegam / elif@gAfeed
(3) Impulse / =TI / T
(4) Dendrite / (STgIRE / SI@2 FY7Ta

The function of hypothalamus is to regulate the secretions
of hormones from

85.

AR TN (e @ eed Fa e
ferere =4t
TRAIYIATCR FIE 2o (AP AT figoract
e F41 |
(1) Pituitary gland / #5251t &% / *i526ifa af
(2) Endocrine gland / @r@ieriza &f3
(3) Thymus gland /2{Zs15 &if% / Az af
(4) Exocrine gland / 3fZsaa oy

The zygote which has inherited an X-chromosome from
the father will develop into

iz Piga wiee A Seaifiid e el it
X -@'e (o et 23|
@ Tfvee ¢ Wit Feriy qt Tiainh e i (A 9B
X (@IS R Teaifieas aite 2, ©f et
TA@|

(1) Baby boy / 3&Ta faie

(2) Baby girl / gl R

(3) Adult / &RTTH

(4) Either boy or girl /&'al @i2[t (29 /

W AT 3t et

Which of the following statement(s) is/are true about
heart?

TTES (FIS T (FI(B] TS HEj 2
TeE T eve (@G AT Teq ?

(1) Left atrium receives oxygenated blood
from different parts of body while right
atrium receives deoxygenated blood from
lungs

3t wferz =944 e wwi 2[ wiknew
T@ (T &7 (4 (78 CNl-aferwz 2l e-weq
1t TS AR (T &2 FA|
3 e W Aaa [fen e (AT AR_Ew TEae
A% FA AR T A(eTH THATA (ALF AIFGTATE
7% &l FA |

(2) Left ventricle pumps oxygenated blood to

different body parts while right ventricle
pumps deoxygenated blood to lungs

3he fFen wf¥nem 1@ (ow 99 f[feq weita
sifdnm fFe e s afte (ow zfe-
wieta A |

3t foern =it ffen s wfnege 7@ <
FA AR T e TS SPHem @ T60E T
A9 F73 |
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(3) Left atrium transfers oxygenated blood to
the right ventricle which sends it to

(1) Archaeologists / TG
(2) Paleontologists / Graifaw / Grarifaw

ggt;m%%;%gz@ g (3) Neurologists / fFetaeies / myfRriae
Sq RR > ) ) (4) Chronologists / FEHE 3 / FerfawEaiafaw
R <o o et s 91. The transfer of pollen from anther to stigma is
Bt TS TSE TIFCA ZAEA FCA called
3R O forem «fbors =Aicaa e st cer@ed 3| SrisIIR 9141 “I197aY] ST B (@I
(4) Right atrium receives oxygenated blood @
from different parts of the body while left e
ventricle pumps oxygenated blood to STl _{ﬁ' C’*’l’@ S PRI FABE T =
different parts of the body (1) Fertilization / ftape/ sreFrae
-TfeTE e T@ (0% =444 [{fen s @t (2) Embryogeny / Sei&a / Zeeel
sizs 4 g le-fem wfsre 7@ (ow 9w (3) Pollination / #ftaatst / #fisifsem
fafen waite 2ifdwma | (4) None / €616 777 / aF ('€ 73
3 e 79w = Fitan [fon wet wiHreTge 92. Embryo sac is located inside
TG A7 FTA T T feTw XAAA [fow ot el feeTe wfgel
mmwaﬁqml Wﬁtﬁ@mﬁai\SEHW|
87. The science of heredity is known as (1) Stigma / S
Fisife Jwm 31 T T | (2) ovule / &g
e e e #fafoe (3) style / arewe:
(1) Embryology / eifawst (4) Anther / #I@taigiat/ siiatgrat
(2) Biology / &3 fawaiw / Siafaem 93. Seed is formed from
(3) Genetics / Sasf*ia fa@i / efem faes AP T =
(4) Chemical —biology / A af"a &4 e / feoa el (e oifs Tt =1
IATE GRS (1) Fruit / =e1 / TpeTe1
88.  The visible characteristic in an organism is known as- (2) Ovule/ f@m‘f-l
T GO P (AR e (3) Plant / f&w
(B G ey e (e fRewa wiffee (4)Both 1 &2/ 1 w1 2¥@w / 1 @43 2 Tewg
(1) Prototype / &6 512?! / (2NTHiBRet 94 The Phenotypic ratio of Mendels monohybrid cross is
(2) Phenotype / f&F1'Bi2et / (wrtaiBzet (T G-I SO (27
(3) Genotype / B2l / crtiBizst G GF FF GCE (FABIR IS SoATS
(4) Chemotype / (F51Z?l / (FCBIA 8; ;; g‘; ?53
89. The famous book, “The origin of species” was written 95  Emascualtion is the removal of from the flower
“The origin of species” Ww Ay fFetol <= ferew ? Gk — = fmt
o7 AT T FA (AF_ SR
« .. - 1) Sepal / €
The origin of species” Tt [e5® 2tga @14F farew ( p
s P (2) Stigma / &S
(1) Linde man / e = / foes sp= (3) Anther / /i1 / Rt
(2) Mendel / Geesst / (TS (4) All of the above / SIBIRTFLH! / TATER FALTe
. < < 96. Amount of energy flow from one tropic level to another is
(3) Charles Darwin / 5i#(6 ©i¥bes / 5o TlFGe :
(4) Mandeleev / (esfers / (rsfas dﬁ; G @9 o1 Wi 1B S
90. The scientists who study fossils are called X’
S Raca wgEs ¥4 @Eies Q@ & G T (A0 O BT I 2 oAt 2H—
1) 50 % (2)20 %
RIE < < 3| (
G Sl [{eieod JeT & 3)10% ®30%
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97. Ozone hole may cause (1) Voter verifiable paper audit trail
o Twee foue IE . 2I AN (2) Voter verification paper auditing technique
ST %% 294 FIA0 20 ATA (3) Voting verification paper audit trail
(1) Heredity / g5 4) Nor.le of these / «ﬂf‘m m / «ﬂﬂﬁ‘\‘i T .
(2) Mutation / TeoAfasel / ol 102. ii‘{rliccas Eitfél;darli:aigrssilsa{nChlna, India, Brazil and South
(3) Skin cancer / RIeTE FFGCA / GF FHAR m,ﬁ;{’ W?Wwwﬁm@mwﬁ%m
(4)Both 1 and 3/ 1= 3%@w / | @R 3 Tew BRICS g | 31 32y Fieer
98.  The third tropic level in a food chain is occupied by A, 5, o, aifee e whwE St QetE 20
I T N Tt 7 I SRICS 8 e
<D A- *era YO FFIT T A W T4 2 (1) China / 5
(1) Herbivore / gacei& 2 .
] (2) Brazil / gife@
(2) Carnivore / AR / AR S (3) South Africa /wFise S
(3) Producer / &eovs (4) Russia / <& / =i
4) Decompo§er / ﬁtmw T . _ 103. Ayushman Bharat- National Health Protection Mission
99. ;rt?;nrif;pfl(f??ggpef?;em in human beings, that has high (AB-NHPM) is a national insurance schemes initiated by
the Govt. of India. It includes the following health services
agF i fay tzre— 5f | G2 ABFe TEEE @Ta TR 2TA—
ol [t oAzl | G2 AR AR @S RIS 2e—
(1) Haemoglobin / f&xr'affam / ezt (1) Day care surgeries
(2) Lungs / %1% / 97 A oF A5EE (TR / O 25t
(3) ATP/ @65 (2) Newborn children services
(4) Platelets / Seperet W Trelle e Gt / I o et PR ot
100. Blood pressure is measured with an instrument called (3) Pre & post hospitalization expenses
TEDI9 (AT THCBE S (—e— Pfewifia @77 ot =< 25w 476
F@bI7 el 78 (3 T v o 2 — fofee zemm ot @2 vtaa o
(1) Dialysis / Sratenzfos / Rifgmad (4) All of these / SB{RCFB! / FaF0
(2) Sphygmomanometer / /s 5o / 104. Whli.ch amtonfgIthdg following can be said to be a part of the
A DI parliament of India
(3)11:j;hron/mq' TR (FGIE SIS AW Teel I F A2
53 (FADCE SRS AR S| T A 2
(4) Stethoscope / CBfRTHI? / GHTITHI?! . .
(i) President / Argeif® / A=t
| REASONING & GIC Uit OB s Mar) (1) Subv) et
101. VVPAT is a machine which allows you to see a printed (iv) Governors of states / qEAle1 / AEHAE
slip for 7 seconds showing the serial number, name and (1) only i and iii / & i ®< iii / @ i @3 iii
symbol of your chosen candidate. VVPAT stands for P PTT . C s g i
\EIVPAT chqam RG—— PR g; ZEE], i;l;icm;li\: G 1, 1190 i1d / M@ 1, 11 @9 i
T 7, T =@ 5F 7 (5r3e A bR AT | @2 (4)Allofthese/@l%ﬁcfaﬁ/ﬂwﬁ3
VVPAT 3 i Fortht (20 105. Who can cast their votes by postal ballot
VVPAT 0% 0! T T 91 (9101 (oo™ 1 2l AR (o5 1 Frera cotbifea g e oI 2
T TR, A G3R A 5F 7 CTF0eq T WS AT | T (AATBE s T FireE (oib elrel 4TS e ?
@2 VVPAT @7 ‘“"’ﬁ‘f T ]0R I. Members of the Armed Force
/ CRIA TS | (ARSI 9o
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II. Officials on election duty /
i oTa miftge 2@ S/

III. Foreign Service personnel when posted

Abroad / (AwiE (1A FEaes @fent [umre

e =1fe Fa/ AWHE R R 944
faree foge =

()Tand I/ Tts 111 / T@az 110

2) M and 1T/ IT=tf=e 1T / IT@<g I

(3) only Il / =& III / gy III

@ L Tand I/ 1, IT'=f<e 11 /1, IT @3 IIT

106. The tenure of Lok-Sabha is 5 years, but it was extended

upto 6 years only

(FIFITI Tl 5 a4 [5G G5! 6 TRaCe WHIA! (2%

g |

TSR FEFE 5 I8, g ©f 6 377 #Iw ATl =@

wy |
(1) Once / @99/ @&F4[
(2) Twice / 494/ 414
(3) Thrice / fefiara / fomata
(4) Never / (Ffeqie (@41 W2/ Fe 73

107. Autobiography of Dr. A.P.J. Abdul Kalam is titled

T° .. (% e FETE WG A (207 I
T° @.f5%. (5. IE FAGR SGGEAD 28 |
(1) The Words / & 9%/ f& @arew

(2) Wings of Fire / T2rolg O A€ / T2 OF FAE

(3) Freedom in Exile / Fe'siza @HZe
(4) The Test of My Life / T (58 oI w12 w1z

108. In a certain code language, MAYOR is coded as QEYKN,

than APPLE is coded as

@5t 7S Alrsfes erare 7 MAYOR *# 5t QEYKN
31 feral =3, (ot® APPLE *1%t51 Jfer feratt 291
a5 w8 Fwwfes siEm 7 MAYOR *%f6 QEYKN

(& @72 29, 4 APPLE *#(0 A (@A ZE|
(1) FTYHA (2) ESPHA
(3) ETPHA (4) FTZFD

109. The International Bank for Reconstruction and
Development is also known as

R (eF 2[4 Tt o Trae [@FS F e o qw e
QG| [OF 2Jafasio qa2 Taael AIHCE F A S A 2

(1) IMF / SiQ&ifes TRt

(2) World Bank / ¢ (35

(3) ADB / @foqis Tmae (3%F / @i T @@
(4) IDA / SIEE [0F CFae Qreei

110.

111.

112.

113.

114.

115.

Which of the following is used for artificial ripening of
green fruits

Fia SITA TA-E AFRCA F (9% 9214 741 27 2
FIETSIR T AFCAR oy (& 7 92T F1 €4 2
(1) Ethylene / 3fafem
(2) Methane / firem
(3) Propane / &'to
(4) Acetylene / «@fefbfew/ affbfem

The noble gas used in radiotherapy is
@fGs (2ifere AR @I R TS
@oe cAAifire Ize zent a7 22t
(1) Krypton / f&@#f61  (2) Radon / (3% / (e
(3) Argon /=5t (4) Xenon / (SEe
Who is known as the father of ‘local self government’ in
India
TIASTHS FITG XA T (i i ?
SRS FAG * TR T (TR ?
(1) Wellesley / STATeT61 / STRTEAGT
(2) Cornwallis / F<aifes / Feemifem
(3) Ripon / fastet / faolm
(4) Amherst / ==&

If a superfast train running at the rate of 120km per hour
passes a bridge of 100 metres long in 12 seconds, what is
the length of the train

o1e 120 .. @ sifesal wer@dt @@ 100
Bt #iwet ok Qo SIfoEs FCaite 12 (FFe A" =it |
MEr<iera twey frter 2
20 f&fa1. aifea @S weradt Graa qw100 FoR =77 @
(TS 214 ZCS 12 CFS TE A, O GAoa (7 T 2
(1) 260 m (2) 300 m
(3) 360 m (4) 400 m
A man died in the year y* of twentieth century at the age
of y years. He was born in
ot *roi @R y? 5 T N2 y I3 TS TY 20,
(o€ T (214t oot fv 2
ot wroda 2 1 T €T (@EFHoa 7T AW y I=A
T, O ©OfF T Al T© 2
(1) 1936 (2) 1900
(3) 1892 (4) 1960
If NUMERICAL is written as MVLFQJBBK, then how
would ASTROLOGY be written in this code
Tt NUMERICAL *=@t5t MVLFQJBBK 3f& e =,
(St% ASTROLOGY *5t & 3o o '3 2
T NUMERICAL == MVLFQJBBK el ¢e14ll 23,
©a ASTROLOGY *%f6 f& ata1 (evalt 27a 2
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(1) BRSTMNNHX (2) ZTSSNMNHX
(3) ZTUSPMPEZ (4) BRWSSNKNHX
116. The top of a broken tree touches the ground at a distance
of 15 m from its base. If the tree is broken at a height of
8m from the ground, then the actual height of the tree is
Tife carat org «oia Areiot wfr siga wfvw o@t 15 [oE age
b =opf Fa w1 aRCt =l M +fa1 § b Twwere 83 é5 %294
OICE (oTT T ? . 5 I . A, B, Cand D play a game of cards. A says to B, "If I give
G5 (ST TeT AlTed POl O Bt (2t 15 Fibra gavy you 8 cards, you will have as many as C has and I shall
{6 =l Fa | 7w 2L W (A 8 it Twwerw e, have 3 less than what C has. Also, if I take 6 cards from C,
(3 SR G Tl Fe ? I shall have twice as many as D has." If B and D together
(1)20 m (2)25m have 50 cards, how many cards has A got
(3)30m 4) 17 m A, B, Coi D (31 ©ig #if® (41 ATHITe A @ BF F0
117. A watch which gains 5 seconds in 3 minutes was set right “xft T2 (OE 8 <4 S 7 WS (or® (ore Freq At
at 7 a.m. In the afternoon of the same day, when the watch C T AN O (/4 F1%q 72 C OiF 3 47 N 29|
indicated quarter past 4 o'clock, the true time is ST 3 TW C I90a 6 47 FIE AE (SCF (T F1EF 7L
Bt 79! 3 FfioS 5 core AR AW | 3w T o4 7 Dagedza " qf% BUi® D =I5 FIUq 5l 50 7, (0T
Fore 5= 74t 2, corg witafa 4 3ifE 15 e v A7 1Ea e B 2
Y 4
AT I T2
3:5”’”“5' ‘;%w > , A, B, C 432 D S (4071 AT 0 A 071 B & “2f =
W%Wﬁ'“?a - q-;i;.;:liﬁmﬁum:lm”jﬁ cotIes 8 6 FTE (=, O3 (SR FITea MY C @7 7w
' Wﬁ o 2 ' 3R T FICEE WT C (AT 3 6 7 203 | AAF =it T
(FTA, 7:113@ Ec B C (2% 6 6 T (12, ©73 W7 FIa At D @7 gsel
(1)595min.past3 (2) 4 p.m ZR” T B¢ D GF (NI 7 50 T, OF A @
-, 3 FICEA A4 F© TA?
3) SSHmin .past3 “4) ZHmin .past4 (1) 40 (2) 37
118. TlostRs. 68 int My loss in th d is R (3) 27 (4) 23
- 7 JOSLRS. DO I TWO Taces. Wiy 1085 1N T SeCond race 15 18s. . The traffic light at three different roads change after every
6 more than the first race. My friend lost Rs. 4 more than 48 sec., 72 sec. and 108 second respectively. If they all
Ifn.e nzit'heﬂslecond ra(llce. What is the amount lost by my change simultaneously at 8:20:00 hours, when will they
riend n the sccond race change again simultaneously?
1 T3 effSTaAreTe G 35 68 51 canrie 2 | St TS < G 125 AW 2lf 48 (BTe, 72 (e
aferiireTs et aferaiiteets G 6 m@ﬁ il 108 (TR #ATZ-#11TE &1 B79 | T WBRIEH! areemeat
= St efferaifireTs it a9 et 4591 8:20:00 IETS Te1 T (ST (FTON AT (F2H! SCH
eTwbi 23 | fasi afesraifirere (i aa bl sifam= e
st wiifee 2 .
o5 et wieTw e A Gifes wiies 2ffS 48 o,
a6 cry effsrirom Q[S‘%" 1 GG 68 BRI ‘E'W' 5’”‘@%' o 72 CTEe Gk 108 GTHE #7 27 G0l oo | T 7
efeTAeTT e effeTatiret cUte St 6 T GFATL 8:20:00 & GTEA TLI O F < IR w47 e
i 27 | faSr eiferaifirer =iwe a9 ieAw 28 wiE G TOE ?
(A0 4 Bl (A1 | st aferaidirer e a5 T bl (1) 12:8:27 (2) 8:27:12
(AR T ? (3) 27:8:12
(1) 40 (2) 39 (4) None of these / @bl 727 / @& b8 7 |
()41 (4) 45 . Two bus tickets from city A to B and three tickets from
119. Which number replaces the question mark (?) ? city A to C cost Rs. 77 but three tickets from city A to B
2 foza Jige fo wxant afza? and two tickets from city A to C cost Rs. 73. What are the
WASUE RN & wa za? fares for cities B and C from A
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A SI% B 52301 2 4 ® A 2[4 C 5Zace 3 3449 AR (1) 206 (2) 273

b e 77 5t frg A 1t B 52ate1 3 4 O A ofat (3) 264 4271
C 5Zate1 2 4 9% {5959 Yo7y 73 5l 20e1 A 5299 74l 125. Study the following statements and answer the
B % C 524tel A% 554 577 il 2 question that follows
A (2t B *izrad wte 2 6 55 aak A (o C @ztam weTe il T SR wegmael 1 I R v frm
o 3 15 racsa vt 77 Biset, g A (2te B *rgrad oy e (remi Bfe s s FRFIE ATl ¢ el Ten
36 @3z A (2@ C *127aa 2 TBresa wiw 73 Bt 20a A we|
T3 (AT B @3 C *1203a L6 67 F9 2 (1) ‘P # Q’ means ‘P is mother of Q’
(1)Rs. 4, Rs. 23 (2)Rs. 13, Rs. 17 / ‘P#Q’ WA ‘P targ QI
(3) Rs. 15, Rs. 14 (4)Rs. 17, Rs. 13 . , . ,
123. Study the given Venn diagram carefully and answer the /P#Q A P QA
following question (2) ‘P % Q’ means ‘P is sister of Q’
TS [ (SADALs! SieWia LT Fi woTe ol 2k FZq ‘P % Q T “P t2r8 Q Ao’
mﬁml GP%Q3WCPWQQ§ m’
frfefe coafoat smeatel 7=aia e ¢ eiefem Ted wie | (3) P @ Q’ means ‘P is son of Q’
A A = Male P@Q T P RRQI A
Q%B ] — Female ‘P @ Q’ T ‘PEs Q k| 9,@"
'ﬁ O — Graduated (4) ‘P * Q’ means P is husband of Q’
A S e ‘P * QW P TaTR QAW
How many males are employed but not graduated ‘P * Q’ WTA ‘P & Q @F FA
e 778 TS 21 [ WoF 7=q ? How ‘T” is related to “U” in ‘T#S*V#U%W@S’?
WWW%W@? ‘THS*VHU%W@S® &2 (7@ “T” 1 “U’F (310® 517 f& 2
(1) 52 (2) 46 ‘THS*VHU%W@S’ @ (768 ‘T @3 ‘U’ @3 A 7o {5 2
(3) 46 (4) 25 (1) Mother /31t
124. If . 1S written as "+, A 1S written as "X (2) Mother-in-law / =1z /=@
and . ’ is written as ‘+” and . is written as (3) Grandmother / wif&®! / il
(4) Daughter / 7@ / Fofit
~*, then find the value of 16 A\ 19 @) 60 A
4 . 48. :.................................................:
: ENGLISH /331Gl / ZRIGN (25 Marks)
qﬁ‘ ’ai‘-i_’ﬁ,‘ ,as‘x’@; ,as‘+’ﬁw ©0000000000000000000000000000000000000000000000000
. A . 126. The government is going to a new policy
on education
7 —afre, coww 16 A\ 19 Q) 60 (1) adapt (2) adept
. A . . (3) adopt (4) adhoc
127. He will soon his job
4+ @) 48w fada e (1) quit (2) quiet
(3) quite (4) quick
Y VA s, s, 128. A person who types isa
e . S @’A = a . @~ @aR (1) typer (2) type-writer
(3) typist (4) type-man
. Dt A 129. An example of a sentence in simple past tense is
F-EEEeE 16 19 .60 . (1) T have had my dinner
(2) I had my dinner
4 48 o (3) I have taken my dinner
. RARLAAA S (4) None of the above
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130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

I shall help you if you

(1) will come
(3) come

I bought the book
(1) to
(3) for

I had a talk with him after you

(1) had left
(3) left

He promised to .........

(1) met
(3) meet

I have studied the chapter,

(1) have I
(3) haven’t I

He often visits our home,

(1) do he
(3) doesn’t he

He hit the ball with the bat,

(1) does he
(3) doesn’t he

An Alma Mater is an:
(1) industrial area
(2) educational institute

(3) Arab land
(4) aircraft

back
(2) are coming
(4) came

two hundred rupees

(2) by
(4) about

(2) have left
(4) none of these

(2) meeting
(4) none of these
?

(2)do1

(4) don’t I
‘7

(2) does he

(4)isn’t he

(2) did he

(4) didn’t he

He was reluctant to accompany me

The word in italics in the above sentence means:

(1) happy (2) unhappy

(3) willing (4) unwilling
One of those boys .

(1) is my friend (2) is my friends

(3) are my friend (4) are my friends
Hyderabad is ___ Indian city

(1) a (2) an

(3) The (4) Only
I have read of the two books

(1) neither (2) none

(3) any (4) afew

142.

143.

144.

145.

146.

147.

148.

149.

150.

My brother is dressed a new suit
(1) at (2)in
(3) on (4) with

Of the following, the correct sentence is
(1) Do you know when schools will reopen?
(2) Do you know when will schools reopen?
(3) Do you know when did schools reopen?
(4) When schools will reopen?

The noun form of ‘die’ is:
(1) died (2) dead
(3) death (4) kill

Muslims fast during the month of Ramadan

The word in italics in the above sentence is
(1) anoun (2) averb
(3) an adjective (4) an adverb

Of the following, the sentence with a mistake is
(1) He went to abroad last month
(2) I prefer coffee to tea
(3) This is easier than that
(4) He went abroad last month

Of the following sentences, the one in passive voice is

(1) He has been ill (2) He stood by me

(3) He was invited (4) He did not invite me
The sumis ........coceoeveenene. than that

(1) difficult (2) easier

(3) more easier (4) very easy

Read the following sentences
(i) Let me call him
(i1) I will have called him
(ii1) I was called
(iv) I was called by him
(1) All the sentences are in passive voice
(2) Only (iii) & (iv) are in passive voice
(3) Only (iv) is in passive voice

(4) None of the above

Which of the following is a conjunction?
(1) on (2) only
(3) other (4) otherwise
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AJMAL SUPER 40
_A TRUSTED PLATFORM FOR NEET & JEE |

ONLINE REGISTRATION OPEN £7%7;

ADMISSION CUM SCHOLARSHIP TEST

Eligibility: Class X Appeared Expecting Eligibility: HS Science Appeared or Passed
85% or Above Marks in Final Exam. With 75% or Above Marks.

Aspirants who could not appear in the SCHOLARSHIP & FINANCIAL AID
Admission Test held on 9th January-2022

can Register now (Only for XI) the second phase TOP 40 §TUDE!‘ITS (in written & oral inferview) will be
e ) provided with 100% Scholarship in course fee
of Admission cum Scholarship Test.

All The ‘HAFIZ’ Students will be provided with
SCHOLARSHIP & FINANCIAL AID 100% Scholarship in course fee

OP 40 BPL STUDENTS (in written & oral interview) will be 50% Scholarship will be provided to the Students
provided with 100% Scholarship in course & Hostel fees from SC, ST and TEA-TRIBE Communities

All The ‘HAFIZ’ Students will be provided with 30% Scholarship will be provided to all the Students
100% Scholarship in course fee belonging to BPL Families

50% Scholarship will be provided to the Students 20% Scholarship will be provided to the wards of
from SC, ST and TEA-TRIBE Communities VENTURE/PVT. TEACHERS & 4TH GRADE EMPLOYEES

A Special Concession will be provided to the wards A Special Concession will be provided to the wards

of DEFENCE PERSONNEL of DEFENCE PERSONNEL
DIFFERENTLY ABLED STUDENTS (PWD) will be given § § DIFFERENTLY ABLED STUDENTS (PWD) will be given

a special preference in taking admission a special preference in taking admission

Many other merit scholarships will be provided Many other merit scholarships will be provided
to the deserving students to the deserving students

Admission in AJMAL SUPER 40 is subject to qualify the Admission Cum Scholarship Test followed by Personal Interview

09 s00'[ 52 550'] 112 500
Date of Admission Test will be notified in our website & through text messages
SYLLABUS FOR BOTH THE EXAMS IS ALREADY UPLOADED IN OUR WEBSITE

All sorts of electronic gadgets like mobile FOR ONLINE REGISTRATION

phone, laptops, tablets, etc. which may =
lead to wastage of time, are not allowed Visit Us @

in our campus. We provide all WWW. aimalsuper40 in
those items as and when required ) ;

Ty www.ajmalfoundation.com

Around 150+ Students are expected to get seat in Govt. Medical Colleges
Q 9957979477 | 6000684005 | 7035868755 | 8812051263 | 7253009925

AJMAL FOR EDUCATION, EDUCATION FOR ALL.
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